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1

(x) 9ifEG8tfl -e- ~ Q ~ ~ w fqJ:r 1itg -et ~ ciBT tmft~, tT or fu"tf I 1

9~~a8tltl{RO (l{RO<WcJxi3"'-xv3"q)

(xi) CH3-CHz-CH1-CH-CH3~IUPAC or~: .
I

OH
(ft) ~-2-m, (J)[) ~-4-m, .

1

1. (viii) b~ ~ tT or fuif I

1

1

l{liJO t.(vi) ~ (x) fEq 'F.t"9"e" ~ ~ :

(vi) ~ ~ tT '[30 fuif I

1

1

1

1

1(i) . f.eF.taida eft tJO ?

(ii) ~ Mfumf -e- ~ (JO ?

(iii) ~ ~ eft(JO ?

(iv) ~eft~?

(v) ~ eft tJO ?

~ ~ ;r dAifef<ta ~ -e- ~ dAifEf<ta ~ ~ ¥ Wtr ~ crf<'R"
<lE, dAifEf<ta ~ tIT -eo We- 'Ufa<;gd36 ao ~ (JO, ~ ~ (JO I ~

~ tIT 0T3t <;gQiQ'@(JOW~ ~ ~ ~ ~ tIT or3T 11lciQ'@ (JO

~ 3dlfc<;g ~ ~ (JO I ~ ~ ~ ~ oo;'f ~ 'eT ~ ~ ~ 00

~ f.eF.taida ~ -et ~ 1.lfCT ~ (JO I

b~~l{RO:

1. Ucr- 3" l)flt:ra 3" l{RO(i) 3"'-(v) 3q"fust fe3"r Ucr- lS~~ l{F.1Ot -e- . ~ ~ :

20il<l=20'

(2)
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1+1=2(~) Kz[HgCIJ
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'fro~'¬ TTIUPAC otfae':

2

2

2

2

~ l)fat ~ l{Jim :

2. ~ ~ ~ -et l.Ifd!!lIJ:l1fffill
3. ~ j8t1(') ~ eft CJO? ClF -et ~ fae' I
4. 1)'l3dal51 '33' adl€ld "GtftJrq ~ a<tIQ\ftl)ft tJO ?
5. ~ &l)f3' ~AftJ~G1t1(') ~ ~ ~ ~ fae' I= -

7x2=14

1

1

1

1

1

(xvii) ~P~-et3W~~CJO I

(xviii) il2to ~A8F.i<tQRNA ~ 1b~3rd3 cft3r ttieT 'fr I
(xix) l){1}f 30 3' l)f8alel8 Jwel$ ~ J81el$ ~ ~ ~ ~ CJOI
(xx) 6'lc58t.1 its' f5cwr Q.'8"'5 -ao ~ tJO I

(E) L-1

l{Jim t. (xvi) ~ (xx) 'RCftfar83' fffil :
(xvi) ~ ~ 28(,)t.I cflE~2 ~ fR8~d fkoo ~ ~ CJOI

(3)

bOi) l=I'S ~ 1::fTOT fcm;p- ~ : 1

(tr) ~ (l)f) trfuHoT~
(E) A~$JI ~ (H) 2dJ:lJl~

(xiii) ~ ~ (}lJlfA(,)8~) ~ tJO· 1- .
(tr) ~ '21ilc q(J() cret (l)f) '3()Tl)f ~ 0T<J3' cret
(E) ~-et~cret (H) . fucJ?;tw cleT '(')()f

(xiv) Wr urit -et iffio3r (urit -et l1JBT = 1gm/" ) ~ 1
(tr) 55.55M (l)f) 50M
(E) 60M (H) 5M

(XV) l.{eH cl2t -et ~ -e- tor 'R'ftrcJ ~ to -et fua lei 'fr : 1
(~) -I (l)f) molL-1 S-Is
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315. ~))f3" R~~c:fI Scc:fltl eft 00 ?

14. cci;t!t H8'a' €J186(31(/\0 m) l.f3T W trF fa- iffia »1lfefo6( €J186(311..0(Ca+2) = 119 S ern-mol"
})f3"HHo"»)j1Fefo6( tJ186(31 AO(Ct1)=76.3Scm2mol-1 ~ I 3

3

1\12+ 1\12=3

~
(~) ~~~·fuB".1

(})f) ~ ~ ~ fuB" I

1\12+ 1\12=3

3

3

3

10. ~})f3" "UdIHd<t ~ ~ ~ fuB" I
11. ~ (10) ~8a(J8 "81:ft f~6(cd ~ 2Frc ffil11

trt

tfl~dtl tT ~ ~ »18a(J8 ~ We ~ ~ ?
12. (~) ~ €8(Jld~~f8(')Hdl ~ tft ~ -aa I

(})f) ~ ~ ~ fuB" I

,
9. 9(')t.fi(') tT ~ 1)jq 353.23K~ I trF 90g 9(')t.fi(') ~ 1.80g OTt> ~8Ic'tt18 ~ ~;:rttr ~

3t fuRtT ~ ~ 354.11K 37(. ~. t1feT ~ I 1yf53" tT Hc:5o Yt1 1J3T -aa I

(s(')t.fi(') tTKb =2.53 Kkg mofI 3

7x3=21

l.{$f ~ ~ "81:ft ~ (eo) 'Fl'fuo 1)jq K = 5.48 X 1O-14S-1~ I fuHeT -e- f3<J'el ~ 1J3T

-aa I 2

2

(4)
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3+2=5

(iii) ~ ~qclr~cl

(~) 'Vo ~ ~. 1..1 fa§jiF.jI ma- :

(i) ~~ (ii) ~~

. ())f) q8d6 IdH" -e- 'e" ~ 'lEi! I

3+2=5

. (ii) 6J1~8 qdl6Ci:1 »18q1el8F.jo ~

(iii) ~fcdl ~

())f). ~ ~ ~ 'R'&ft ~ ~ (SNl)".g -e- ~ ~ 'R'&ft. ~

18. (~) 'Vo ~ ~ ma- :

(i) ~~

2+3=5

({T) 1)l3dq181'Q'T3t tT ~ ".g ~ ~ ~ ~ -fr ? ~ I

())f) £'aolfi:!~ ljurno -e- eft ~ (JO fJc ~ 'lEi! I

3+2=5

17. (~) ~Cr20,~~ma-1

())f). 1)l3dq181'Q'T3t ~ ~ ~ ~ }i~e ~ ~ ?

2+2+1=5

({T) S03~ tfta -e-~ AA"'c -fr I ~ ?

())f) '&:r5 ~ -eT fi:!£qc:;:o ~ ~ t=fta ~ -fr ?

('E") Oleum (~) tT R30 ma- I=

2+3=5

16. ({T) .ICI, ('5(jt- ~ tRfq IF,~ -fr ~ ?

())f) ;:fu'5o (Xenon) -er ~ 3" o'tc? El'dZ8c ~ ~ f5tt I

3xS=lS. STOT-ll

(5 )



fcittChI(Ch ~ ctt tlfijj~dl QCT ~ ~ I .

(i) fcittChI(Ch ~ ~ ~ ? 1

(ii) iW<Cb ~ lJCbl"{ c6 ~ ~ ? 1

(iii) tlCbI (It'lq; iW<Cb ~ ~ ~ ? 1

(iv) ~~~~? 1

(v) m~~~? 1
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~ I3fcI; ~ li~ :

1. ~ c6 ~ q-{ li~";f(li~ of. (i) ~ (v) ijCJ;) ~ ~ ~ ~ CJ?T ~ li~-.rrc6 \ffi"{ ~ -

~ ~ un (Itll~~Cb l)i~fijj~1 c6 o3Rf ~ <ltll~~Cb t(cr 'i1"lIt"lCb ~ 'ij I3lq~qRfd ~ ~/ (1f1l~~Cb ~ *t ~ CJ?T

q~qR1dCIR ~ ~/ iW<Cb ~ ~ I un iW<Cb ~ *t ~ ~ m~~ flChI(k'lCh ~ ~ ~.~ un
~ ctt ~ CJ?T tftJft Cb'ffl ~ ~ '1Chi(It'lCb ~ ~ ~/ q$p ~ ~ ~ ~ un ~ c5T ~ ~ ~ ~ ~

20xl=20

riJc: (i) JPFft i!ffr-~ rt ~ ~ irr~-mArrr-m em? lJITit if FcFFr-m/iprr-m 053/B Jrcr~"l{

fffli I

(ii) ~-~ Wff dt ~ ~ ~ ~·w fcI; ~ ~?Wrr 30 ~ ~ ~ flit WI" if ~,

(iii) iJfIT-~ if w rM ~ ~.fiFif rt fl~WTf.( Mf fcI;r{ 1Jf[ J[~.,/!;r~rjf CfiT j,(i4iCfjrt '1tf friiw
~I

(iv) ~ 18 ~., ~ I fI'Ift fIR' @,t/ II
(v) 'I)1f-.q) if JWf ;t. 1rt 20 iJ'l-f1T1T bffP.lT R f1T1T1Jtq; CfiT a- I~ '1J7f I31f.fqrl{ '1

(vi) qpf~ if ~., ;t. 2 «8 2-2 Jtq; rt ~I ~ J[~rjfif ~ WIifq ~ I ~!JTrf I31f.fqrl{ II
(vii) qpf-1f if ~., ;t. 9 « 15 3,;.3 Jtq; rt ~ ~ J[~rjfif ~ WIifq a- I ~ !JTrf I31f.fqrl{ II
(viii) qpf-tf if ~., ;t. 16 «18 5-5 Jtq; t~·fffIT ~ ~ WIifq a- I ~!JTrf I31f.fqrl{ '1

(a) IRmWKfT Mrrr &!JJfol'h mruft 11Mt ijff trcrxft a- I

(x) ?1fF1R11T ~ t iJfflff7r qff o3TI$ff a- I

(xi) r:kTaft rriJr fP.ft if J[~" ~ t JWff t~.~I cpjffcI; ~ ~ r;r .JJTETTftrr ~ a- ~ M
'If1{ qff fMff if ~ t J[~ ~ flit 11FfT iif/([ I

(Hindi Version)
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(xi) CH3-CHz-CH:z-CH-CH3 em-~UPAC'lfll~: 1
I

OH .

(C6) ~-2-~ (~) _~-4~

(lJ) ~-l~ (~)Q;eI'1f(1

(xii) ~~CfiA-m~: ' t 1

(C6) ~ (~) ~~
\' ~

(lJ) WRft~ (~)mrtt~
(xiii) ct.elqI4~RCf)~ (~~) wiM c6t\jffifi ~ : 1

(co) ~Cblq;qcPRc6~ (~) q.:nq q;q cPR c6 ~

o (lJ) ~c6t~c6~ (~) ~u'cnW;@

(xiv) ~ qr;ft c6t~ (~qr;ft em-~ = 19m(1) ~ : 9'iS 1
~6·

o (C6) 55.55M (~) 50M 'P Y

(lJ) 60M (~)5M "
(xv) 1

-1 moIL-1s-1
,

(CO) s (~)

(lJ) L-1 (~)L-1S-1
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1

1(ix) ~ tfRUfi if uCfiA-m~ ~ ~ ~ ?

(x) uftq;r ~ c6~ q;)p ~c6~ CfiA-mtiRrr wiM fcl;lrr i1tRIT ~ ?

1(viii) .~ ~ ~ em-'lfll ~ I

1\.(vi) ~~em-Wl"~1

(vii) . ~ c6 ~ em-'lfll ~ I

(7)
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Ilh+ Ilh=3
(en) ~~~'1 ~ ~ ~ I

(~) ~ c6:s~~ ~~I
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1~+ Ilh=3

3~ cor ~'1ien q~~~-a em cf<if mm ~ ?
12. (en) ~ ~-~ iji~l*>~1 tt amszrr ~ I

(~)

~,

3

ijR ~ qffi ~:ff :

9. ~ COTCfql!Hien 353.23 K ~ I 1.80g 3iq(l:q~fu;r~ ~ 90g ~ if ~ 1R ~ COTCfCf~ ~

354.11Km \jffffi ~ I ~ c6~ ~ tt 1fUAT 9?U I ~ c6~ KbCOTlfA 2.53Kkgmorl ~I 3
10. Q{I(1{Ol ~ fcImur ~ $;~ ~ I 3

7x3=21

2

f1"'1~rts.ct COTIUPAC 1'Jll~ :

(en) ~[HgCI4] (~) K4[Ni(CN)4] 1+1=2

6. m~lcrcTftRifm-~~1 2

7. t%~~~tt~c6~~(Gr)~80S-1 ~1~~-wRT~~B 11l8qf'lW[~\1iR
if fcncr;:rr (1'lfq WrIT ? 2

8. t',%~~tt~~~~~K=5.5 X 10-14S-1~1~~tt-3l~.qmcRl 2
~

~~cCr~tt~~~qmcR~~(Gr)~K=5.48 X 10-14S-1~L

2
2
2
2

m-~~~~";f :
2~ f.HflIQ'1 q ~ tt ~ m-I
3. i3Rf{ ~ ~ Cf<IT ~ ~ ? ClF tt ~ ~ 1

4. ~mq~~CJ<ITm~?
5. ~-~ ~ I3Q(1~fi~IiI'1 ~ ~ ~ ~ ~ I

7x2=14

1
1
1
1

-.~:ff (xvi) ~ (xx) qq; tltt f1TWf ~ :

(xvi) ~~~~c6.tIW~~~~~1

(xvii) ~~ijf\ttcm~m~1
(xviii) ~ c6tt~WfurCOT~ RNA cf; IDU fcI;<rr \jffffi ~ I'

(xix) ~ 1R ~ ~~II~:S(1~ ~~I~:S(1~ ~ ~~fu;r ~ ~ 1

(xx) ~~~~~~~~~I

( 8 )
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3+2=5

(en) ~~:
(i) ~ ~ (ii) ~ ftrJ3tUT

(~) cR'fl~Lf)fq cf; GT ~ ~ I

(i) ~;:S~4{ 3i~1?b41

(ii) ~ ijil1fC (Whl~~~Fr~

(iii) ~ 3i~I?b<l1

(~) qCf)lfOqCf)~ ~ (SN 1) ~ fu:~ ~ ~ ~I?b<ll (SN2) if GT ~ ~ I

3+2=5

2+3=5

3+2=5

2+2+1=5

~

(Cf») S03Cf)f·~~ ~~mm~?
(~) ~tffifctt~~~I'1 ~~~~~~?
(1f) ~Cf)fWf~1

17. (Cf») ~Cr20,ctt~~1

(~) ~~if\3~{ctl4 ~~mm~?
~

(Cf») ~ ffiG1 Cf)f~ ~ ~ 1JWliCfi ~ mm~ ?

(~) ~ ~ cf; ijf.; qftOJTlf ~ I

18. (Cf») ~~~~~-

2+3=5

qlq i3tcPT qW ~~Of:

16. (Cf») ICl,;ffll iAffi' IF, iAffi' ~, ~ ?

(~) ~ (Xenon) cttnm cf; GIlt if ~ ~.Cf)f m~ I

3

3x5=15

14. CaCl2 ctt ~ 'q1(i1Cf)(11(/\ Om) qffi Cf){ ~ ~ ~ 'q1(i1Cf)(11A° (Ca+2) = 119 S em-mol:' ~ ~
~ 'q1(i1Cf)(11AO (C[-t) =76.3 S cm-rnol' ~ I 3

3

(9)

13. f%q-f14)Cf){oft4 ~ CFIT~ ~ ? ~ GT ~ ~ (~0Wl) I
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(xO, Punjabi and Hindi versions of questions are translations of English version. Since

, translation is based onapproximations, so in the case of any confusion consider

English version to be correct.

(x) Use of simple calculator is'allowed. ,

(ix) Log tables may be asked for if needed.

(viii) In Part-D question no. 16 to 18 are of five marks each and there is internal choice.

All questions are compUlsory.

(vii) .Jn Part-C question no. 9 to 15are of threemarks each. There is internal choice in two

questions.All questions are compulsory:

(vi) In Part-B question no. 2 to 8 are of two marks each. There is internal choice in two

questions.All questions are compulsory.

(v) In Part-A question number 1 has 20 sub parts and each part carries one mark.

All Parts are compulsory;

..(iv) Thereare 18questions. All questions are compulsory.

(iii) , Question/s attempted after leaving blank pagels in the answer-book would not be

evaluated.

(iO Make sure that the answer-book contains 30 pages (including title page) and are

properly serialed as soon as you receive it.

Note: (0 Youmust write the subject-code/paper-code 053/B in the box provided on the title

page of your answer-book.

(English Version)

( 10)
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(d) Pentanol
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(c) Pentan-l- 01

(b) Pentan -4-01

(a) Pentan-2- 01

1
Multiple choice question (Q.No. xi to xv)

(xi) TheIUPACnameofC~-C~-C~-CH-CH3
I

OH

1

1

1

1

I

(vi)· Write the formula of primary amine.

(vii) Name monomers ofPolythene.

(viii) . Name one foodpreservative.

(ix) .Which group fromperiodic table is known asNoble gases?

(x) Write the name of solution used to preserve biological specimen.

Onemarkquestion:

1. Passage based question. (Q.No. ito v)

Read the givenpassage and answer the following questions:

A substance which alters the rate of chemical reaction without itselfundergoing any change in
mass and chemical composition at the end of reaction is called catalyst. Itmay be noted that a
catalyst which increase the speed of a reaction are called positive catalyst and catalyst which
decrease the speed of reaction are called negative catalyst. The promoters are substances that
enhance the activity of catalyst and poisons which decrease the activity of catalyst.

. .

(i) What arepoisons ? I

(ii) Howmany types of catalyst are there ? I

(iii) What arepositive catalyst?

(iv) What is catalyst? 1

(v) What are promoters? 1

Q.No. (vi) to (x)are one word:

20xl=20Part-A

( 11 )
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1

1

1(xvi) Fonnic acid gives silver mirror test with Tollen's reagent.

(xvii) Amines act asLewis bases.

(xviii) The synthesis of proteins is governed byRNA.

(xix)· In general Alkyl Halides aremore reactive thanAryl halides.

(xx) Phenols turn blue litmus red.

(a) 55.55M (b) 50M

(c) 60M (d) 5M

(xv) . The units of rate constant for first order 1

(a) S-1 (b) mol L-IS-1

(c) L-l (d) L-IS-1

Q.No. (xvi) to (xx) are true/false type

1

(xii) .Which ismost basic

(a) Ammonia

(b) PrimaryAmine

(c) SecondaryAmine

(d) TertiaryAmine

(xiii) .. Antipyretics aremedicinal compounds which

(a) Reduce Fever

(b) Reduce Stress

(c) Control Malaria

(d) . None of these

(xiv) Themolarity of pure water (density ofwater = lgml")

( 12 )



[Tumover053/B-SS

3

3

(K, for Benzene is 2.53K kg mol:')

10. Give three differences between osmosis and diffusion.

Three marks questions:

9. The boiling point of benzene is 353.23K. When 1.80g of non-volatile solute was dissolved in
90 g of benzene, the boiling point is raised to 354.11K. Calculate the molar mass of solute.

Part-C 7x3=21

Calculate two third life of a first order reaction having rate constant K=5.48 x 10-14S-1. 2

or

2of the reaction.

8. A first order reaction is found to have a rate constant K = 5.5 xl 0-14s-1. Find the half life period

2concentration ofthe reactant to 1I18th of its initial value?
7. The rate constant for a first order reaction is 80S-I.How much time it will take to reduce the

26. Give two differences between Hormones andVitamins.

1+1=2

Give IUPACname offollowing

or

25. Give two differences between double salts and coordination compound.

24. Why transition elements form coloured compounds?

23. What are interhalogen compounds? Give preparation ofClF.

22. Defme calcinations and roasting.

Twomarks questions:

7x2=14Part-B

( 13 )



16. (a) IC/, does not exist while IF, exist why ?

(b) Give Neil Bartlett's experiments on reactivity of Xenon. 2+3=5

or

(a) 803 has zero dipole moment. Why?

(b) WhyNoble gases has zero electron gain enthalpy?

(c) What is formula of Oleum ? 2+2+1=5

17. (a) GivepreparationofKf'r.O;

(b) Why do transition metal show catalytic properties? 3+2=5

or

(a) Explain why transition elements have high melting and boiling points?

(b) What are three consequences oflanthanoid contraction? 2+3=5

OS3/B-SS

Five marks questions:

3

3x5=15
15. What are primary and secondary batteries?

Part-D

14. Calculate the molar conductance (/\0 in) for CaCl2 given that molar ionic conductance for
'A,0 (Ca+2)= 1198 cm2mol-J aridmolar ionic conductance for ')..,0 (CI-I) = 76.3 8 em' mol". 3

3

1Y2+1Y2=3

(a) Write Clemmensen reduction reaction.

(b) WriteAldol condensation reaction.

13. What are biodegradable polymers? Give two examples (only names).

or

1 Y2+ 1 Y2=3

3Why boiling point of ethers are lower than alcohols?

12. (a) ExplainHellVolhard-Zelinskyreaction.

(b) Write Rosenmund reduction reaction.

or

3I'"11. Write Victor Meyer's test for Primary (1°) alcohol.

( 14 )
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~+2=5

or

(a) Defme (i) Specific rotation (ii) Racemic mixture (iii) Optical Activity

(b) Give two uses of chloroform.

18. ..(a) Write the following reaction

(i) Sandmeyer reaction .

(ii) Friedel Craft Alkylation reaction

(iii) Fittig reaction

(b) Give two differences between SN1(Substitution nucleophilic unimolecular reaction) and

SN2 (Substitution nucleophilic bimolecular reaction) reaction. 3+2=5

( 15 )
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